
■ つぎの  にあてはまる かけ算の 答えを かきましょう。

4 × 10 ＝ 40①

4 × 11 =

4 × 12 ＝ 48

3 × 14 ＝ 42②

3 × 15 =

3 × 16 ＝ 48

2 × 45 ＝ 90③

2 × 46 =

2 × 47 ＝ 94

9 × 10 ＝ 90④

9 × 11 =

9 × 12 ＝ 108

4 × 22 ＝ 88⑤

4 × 23 =

4 × 24 ＝ 96

3 × 30 ＝ 90⑥

3 × 31 =

3 × 32 ＝ 96

5 × 16 ＝ 80⑦

5 × 17 =

5 × 18 ＝ 90

2 × 27 ＝ 54⑧

2 × 28 =

2 × 29 ＝ 58

7 × 11 ＝ 77⑨

7 × 12 =

7 × 13 ＝ 91

6 × 11 ＝ 66⑩

6 × 12 =

6 × 13 ＝ 78

2 × 18 ＝ 36⑪

2 × 19 =

2 × 20 ＝ 40

3 × 23 ＝ 69⑫

3 × 24 =

3 × 25 ＝ 75

かけ算を 広げて
年 組 名前

/１２



■ つぎの  にあてはまる かけ算の 答えを かきましょう。

4 × 10 ＝ 40①

4 × 11 =

4 × 12 ＝ 48

＋444

3 × 14 ＝ 42②

3 × 15 =

3 × 16 ＝ 48

＋345

2 × 45 ＝ 90③

2 × 46 =

2 × 47 ＝ 94

＋292

9 × 10 ＝ 90④

9 × 11 =

9 × 12 ＝ 108

＋999

4 × 22 ＝ 88⑤

4 × 23 =

4 × 24 ＝ 96

＋492

3 × 30 ＝ 90⑥

3 × 31 =

3 × 32 ＝ 96

＋393

5 × 16 ＝ 80⑦

5 × 17 =

5 × 18 ＝ 90

＋585

2 × 27 ＝ 54⑧

2 × 28 =

2 × 29 ＝ 58

＋256

7 × 11 ＝ 77⑨

7 × 12 =

7 × 13 ＝ 91

＋784

6 × 11 ＝ 66⑩

6 × 12 =

6 × 13 ＝ 78

＋672

2 × 18 ＝ 36⑪

2 × 19 =

2 × 20 ＝ 40

＋238

3 × 23 ＝ 69⑫

3 × 24 =

3 × 25 ＝ 75

＋372

かけ算を 広げて
年 組 名前

/１２


